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I nstructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.

2) Solveany 3 (Three) questions from Question No.2'to Question No. 5.

3) Figures to the right indicate full marks.

Q1) Fill in the blanks by selecting suitableschoice (any 6) : [6]

1)  Since last several decades, professionals have been trying to satisfy to
by making him the king.

(Creditors, Supplier, Customer)
i1) The difference in consumer behavior is due to the factor.
(Social, Cultural, Personal)

1i1) In Maslow’s NeedrHierarchy Theory is the highest level of
need.

(Physiological Need, Security Need, Self-Actualization Fulfillment)
iv) Which,shop to buy the product from is decided by
(Store Specific Goals, General Goals, Product Specific Goals)

v).. Personality is a dynamic association of the Characteristics
of a particular person.

(Physical, Mental, Both of the above)

vi) Memory that lasts less than 30 seconds is generally called
(Short term memory, Long term memory Episodic memory)

vii) does not belong to one person but to the whole society.
(Culture, Sub-culture, Cross Culture)

viii) Classes are who an equal place in the economy.

(Ten persons, Fifty person, Many Persons)
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(02) What is 'Consumer Behaviour'? Explain the need and advantages of Study
of Consumer Behaviour.

[14]

03) Define the term ‘Consumer Motivation’. Explain the need, objectives and
scope of Consumer Motivation.

[14]

04) Explain the term ‘Involvement’. Discuss dimensions of Involvement. [14]

05) Explain in detail the concepts - ‘Social Class’ and Family Life’.

06) Write Short Notes (Any 2) :

a)
b)
c)
d)

Howard Sheth Model
Defense Mechanism
Components of Learning

Cross Culture

Fomiooise
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